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The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as

directed : 1x10=10
OO FAGIR T TRE e e e

(@) Mention one assumption of Harrod-
Domar growth model.

CIT-TIR R WRT B sy TEd
M1

(b) Name one neo-classical growth model.

T FI S Rer % GBr =7 =14 |
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(©

(d)

(e)

(9)

(h)

(1)

22A/1120

(2)
What is meant by technological
progress?
sRf&sT® TS T & I3 ?
Define average propensity to consume.
ST (S5 2ETo & 3l |
Who introduced the life-cycle
hypothesis?
E-5F SR (A TEE R 2
Mention one assumption of permanent
income hypothesis.
BT S S 61 SSLET TeEd 90 1
Rational expectation model is related to

Robert Hall/Friedman.
( Choose the correct answer )

Fesrs erem SR 6 2/ BT =1
TS |
( o= TBICH AIfR Tfered )

What is investment?
e 2

What is liquidity preference?
e &S 2

( Continued )

(3)

() What is meant by fiscal policy?
SR Aife e & 3w e

(k) What is Ricardian equivalence?

Refen >er 52

() What is meant by active monetary
policy?

ey a1 Afsca & gam 2

(m) Who are the classicists?

FRPreRm@e W &F 2

(n) Did Keynes believe in full employment
equilibrium?

@3 o e SreTreTs RAmt SR 2

(o) Name one new Keynesian economist.

qE T (F2oR SRR B |

2. Answer any five from the following

questions : 2x5=10
O PRSI AR Ta fray
(a) What is the golden rule?
e A 2
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(4) (S)

() What is meant by endogenous growth? 3. Answer any four from the following
SRS Rer 3ferca f& @ 2 questions : | 5x4=20
; ©eq RIS R @I wifR Tee fra
(c) Mention two differences between
Harrod-Domar model and Solow model. (a) What are the two effects of investment
ET-TIR W wF v WEe SRR 1 according to Harrod-Domar model?
“M2f BrEs 41 | Explain.
@SR W WP R B gek
(d) Why marginal propensity to consume =2 T w4910
cannot be greater than one?
afes o gerer A 9FeE AR 29 (b) Explain Keynes’ psychological law of
T4l ? consumption.
(e) What is random walk of consumption CPL (ST FIEF TG0l T 1 |
expenditure? "
c) Explain the elements of endogenous
cel91 IR AfoRs (R 6 2 B i
() Mention two monetary policy targets, gse [P @W‘T‘R RIS
@l ST 751 77 Sewy 4|
(d) What are the limitations of Harrod-
(g) Mention two differences between Domar model? Explain.
classical and Keynesian thoughts, | R TSR W - & B UT
REIMC ARE (F2AOM SRR TSR 751 =12/ 0 R
e 41
(€) Explain the concept of inventory
(h) Mention two features of classical investment. P
macroeconomic thought. e s
: 1% FCs et g 4 |
Segifre THEAR SRARR T CaRE Sga 4 | !
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(6) (7)

() Explain the time consistency problem of

3 (c) Discuss the Keynesian consumption
monetary policy.

function.
1 W S-SR TP 00 31 | @A (S5 FATDT oA 1 |
(g) Distinguish between external and A : :
internal government debt. : (d) Critically discuss the life-cycle
hypothesis.
AT AF SRR IR AF A A1
T g— _ QT -5 SENFC] STHICADA] STRPICT ST
40
(h) Explain the main features of new
classical macroeconomic thought. (e) Is permanent income hypothesis an
m i t over life-cycle hypothesis?
= Semre SuEafl SHYRR improvemen
i o Discuss.

RISISEIR

@ 2 SCED F4 |
4. Answer any four from the following

questions : 10x4=40 (i Discuss the determinants of business
©ed AR R e sifReR el fixed investment.
e &9 Rifvcaem e s 4 |

(a) Critically discuss the Solow model of

economic growth. (99 What are the motives of demand for

AT 3% o' wfEh AqCEnA R money according to Keynes? Discuss.
AT 1 | @4 o YER oRe ez & 0
(b) Discuss Fisher’s theory of optimal inter- g2

temporal choice.

" (h) Discuss the objectives of monetary
HoRe I TRTNRE oW TG0l HCEAm policy.
F41 |

Tl TS TPz SCED 41 |
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(8)

(i)  Discuss the main features of Keynesian
thought.

(TP SRR 41 SRBPTIR Seeo=T 1 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

MEAM SMeR T (e FR oW
SIfEGR T4 TR o] A |

* kX
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